SO GIAO DUC VA PAO TAO PE THI THU TIENG ANH VAO LOP 10 THPT
- ” NAM HQC: 2014 — 2015
PE THI SO 10-02 e .
[ ] Thoi gian: 60 phut (khong ké thoi gian phat d¢)

(Pé thi gom 02 trang)

H9 vatén:.......... RSN RS TE LTS RPERPRE Lo dan thi sinh: Thi sinh lam bai truc tiép véo dé‘, thi ndy.
Lop..ceevanina. Sobaodanh..........ooe..... Thi sinh khéng duoc sir dung bat cir tai liéu nao ké ca tir dién.
Diém Giam khao Giam thi 1 Giam thi 2

(1-3) Choose the word whose underlined part is pronounced differently from that of the others: (1.5 pts)

1. A. hear B. clear C. tear D. bear
2. A. laid B. said C. paid D. main
3. A. thank B. that C. this D. then

(4 —13) Choose the word or phrase (A, B, C or D) that best fits the blank space in each sentence: (5 pts)
4. Lien as a doctor since 2000.

A. worked B. has worked C. works D. will work
5. It’s important and necessary for everyone to learn and to know a foreign ~~ nowadays.

A. English B. Chinese C. word D. language
6. Tet is a time for families to clean and their homes.

A. celebrate B. make C. decorate D. prepare
7. The doctor suggested that his patient smoking.

A. stopping B. to stop C. should stop D. stops
8. The man your mother is talking to is my English teacher.

A. which B. when C. where D. whom
9. You don’t like action film, ?

A. didn’t you B. do you C.isn’t you D. aren’t you
10. The soccer match begins 4.30 p.m.

A.in B. on C. for D. at
11. T will help you I finish my homework.

A. while B. as soon as C. because D. though
12. The Kien Thuc Ngay Nay is read by both teenagers and adults.

A. wide B. widely C. width D. widened
13. Tom is than John.

A. well B. good C. better D. the best

(14 — 16) Choose the underlined word or phrase (A, B, C or D) that needs correcting: (1.5 pts)
14. 1 would give longer school holiday if I become a president.

A B C D
15. The weather was fine but we went out for a walk.

A B C D
16. My sister broke the glass because her carelessness.
A B C D

(17 — 24) Choose the word or phrase (A, B, C, D) that best fits the blank space in the following passage:(4
pts)

By using computers people can do things faster (17) by using other means. Computers
can do any calculations (18) than a skilled mathematician. (19) a computer is
programmed properly, it can (20) accurately. When we look back the history of computer
(21) , we can see the great differences (22) the old computers and the modern ones. The
old computers work (23) slower than the modern ones. We can use the new generation of
computers conveniently because of their small size and many applied programs (24) are widely
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used all over the world. We can get any sorts of information from the Internet. These are the reasons
why computers appear not only at offices but also at homes.

17.  A.as B. than C. more D. less

18.  A. more rapid B. rapidly C. more rapidly D. as rapidly

19.  A. Although B. After C. Because D. If

20.  A.work B. take C. make D. run

21.  A.science B. scientific C. scientist D. scientifically

22.  A.on B. to C. between D. from

23. A.more B. less C. most D. much

24.  A.which B. who C. where D. when

(25 — 28) Supply the correct form of the words in parentheses to complete the sentences. (2 pts)

25. The government is expected to take against the level of unemployment. (Act)
26. 1 am looking for a present for my sister. (Suit)
27. She is very with her appearance. (Attract)
28. What is your friend’s (Nation)

(29 — 32) Read the text and decide whether the followmg statements are True (T) or False (F) (2 pts)

Air pollution is a cause of ill-health in human beings. In a lot of countries there are laws
limiting the amount of smoke which factories can produce. Although there isn’t enough information
on the effects of smoke in the atmosphere, doctors have proved that air pollution causes lung diseases.

The gases from the exhausts of cars have also increased air pollution in most cities. The lead in
petrol produces a poisonous gas which often collects in busy streets surrounded by high buildings.
Children who live in areas where there is a lot of lead in the atmosphere cannot think as quickly as
other children and are clumsy when they use their hands. There are other long-term effects of
pollution. If the gases in the atmosphere continue to increase, the earth’s climate may become
warmer. A lot of the ice near the poles may melt and may cause serious floods.

STATEMENTS T|F
29. | Air pollution causes lung diseases

30. | Lead is a harmful chemical element
31. | If the gases in the atmosphere increase, the earth’s climate may become cooler.
32. | We will have higher temperatures if we can't stop the pollution

(33 —36) Complete the second sentences in such a way that it means the same as the original one.(

4 pts)

33. Helen is more intelligent than Daisy.

34. “Which grade are you in?” She asked me

=> She SKEA MNIC....ueiii ittt ettt et et e et e e
35. Why don’t we go to Ba’s village this weekend?

=2 HOW @DOUL.. ettt ettt et e et e e
36. I regret going to bed so late last night.

T3 T WIS e e ettt
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conveniently because of their small size and many applied programs (24) are widely used all
over the world. We can get any sorts of information from the Internet. These are the reasons why
computers appear not only at offices but also at homes.

17.  A.as B. than C. more D. less

18.  A. more rapid B. rapidly C. more rapidly D. as rapidly
19.  A. Although B. After C. Because D. If

20. A.work B. take C. make D. run

21.  A.science B. scientific C. scientifical D. scientifically
22.  A.on B. to C. between D. from

23. A.more B. less C. most D. much

24.  A. which B. who C. where D. when

(25 — 28) Supply the correct form of the words in parentheses to complete the sentences. (2 pts)
25. The government is expected to take actions against the level of unemployment.  (Act)

26. 1 am looking fora _ suitable present for my sister. (Suit)
27. She is very _attractive _ with her appearance. (Attract)
28. What is your friend’s _ nationality . (Nation)

(29 — 32) Read the text and decide whether the following statements are True (T) or False (F) (2 pts)

Air pollution is a cause of ill-health in human beings. In a lot of countries there are laws
limiting the amount of smoke which factories can produce. Although there isn’t enough information
on the effects of smoke in the atmosphere, doctors have proved that air pollution causes lung diseases.

The gases from the exhausts of cars have also increased air pollution in most cities. The lead in
petrol produces a poisonous gas which often collects in busy streets surrounded by high buildings.
Children who live in areas where there is a lot of lead in the atmosphere cannot think as quickly as
other children and are clumsy when they use their hands. There are other long-term effects of
pollution. If the gases in the atmosphere continue to increase, the earth’s climate may become
warmer. A lot of the ice near the poles may melt and may cause serious floods.

STATEMENTS T|F
29. | Air pollution causes lung diseases v
30. | Lead is a harmful chemical element v
31. | If the gases in the atmosphere increase, the earth’s climate may become cooler. 4
32. | We will have higher temperatures if we can't stop the pollution v
(33 —36) Complete the second sentences in such a way that it means the same as the original

one.( 4 pts)

33. Helen is more intelligent than Daisy.

=> Daisy isn’t as intelligent as Helen

34. “Which grade are you in?” She asked me

=> She asked me which grade I was in

35. Why don’t we go to Ba’s village this weekend?
=> How about going to Ba’s village this weekend.
36. I regret going to bed so late last night.

=> [ wish I hadn’t gone to bed late last night
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1. D. bear 2. B. said 3. A. thank 4. B. has worked 5. D.language
6. C. decorate 7. C. should stop 8. D. whom 9.B. do you 10. D. at

11. B. assoon as 12. B. widely 13. C. better 14.D 15.C

16.C 17. B. than 18. C. more rapidly19. D. If 20. A. work
21. D. scientifically 22. C. between 23. D. much 24. A. which 25. actions

26. suitable 27. attractive 28. nationality 29. T 30. T

31.F 32.T

33. Daisy isn’t as intelligent as Helen

34. She asked me which grade I was in

35. How about going to Ba’s village this weekend?
36. I wish I hadn’t gone to bed late last night



